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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(V) 797 9= 8 T 13 % o1g-3RIg J97 & | §edah ¥ 3 3% 1 & | §99 G UF goT STEIRe
7o & | 7% 79 %7 3 80 7 100 I3l G iy 7@l AT e’ |

(Vi) 797 @@ 14 T 20 % 31 ST 797 & | 9% J99 &5 b & | 30 T g 9T BT
3150 =51 @ 37 7@l & =Ry |

(vii) 7v7 GEm 21 7 22 grEfaT gt 5eT 5-5 87 & & S w5 77 78 g i
CTEIUTY S U=, [T [ 37 AT dRA § G &

(Viii) TG 37 YR 3 77 77 T@- T FH 9 STR-GIAHT & & T 37T Feel BT |
(iX) E-aHEMT 7917 & 7w @ie areer @Rt & g3 &1 3rgafd 51 S &

ral Instructions :

(i)  There are 22 questions in all.

(i)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(v)  Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(vi) Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question numbers 21-22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(viii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

TOR % P I § o ST Aigennsti & Ufdshet i € 2 Ueh HROT feliey | 1
“In some countries of the world the sex ratio is unfavourable to women.” Give one
reason.

“SHe Td T ST ST A e & Teeul UeT § 17 39 e W gt § e 1T | 1

“Leading a long and healthy life is an important aspect of human development.” Give
an argument to support the statement.

e Tehighd ST e 1 il et ATt o & o Hehe 1 el & ? Ueh HROT fAfa@u | 1

“Why is the large integrated steel industry located close to the source of raw material ?
Give one reason.

TYRI-TTH B HeT [ TR e ot STt & 9 1

How is the importance of a seaport judged ?
2
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STRTUET 2011 % SR, YRA % Jad Y SHEe aTet A9 & A fefau | 1
Name the state of India having lowest density of population as per 2011 census.

‘6T TR 1T T IR SHifT | 1

Define the term ‘hinterland’.

STHR | AR o Gad a2 9 &1 719 fefagy | 1

Name the state of India with largest area.

“AHE-STITT i fofoy sevasharet & g TR suire &t 99 & &9 § 3tad &7 °
ST AT AT I” 37 Joai Dl AT DT S FRIF STARTE B GI1ET & €9 T T5ei
H eI & 9ehd € | 3
“The urban waste should be properly treated as a resource for various needs of
mankind.” Explain the values that can help in changing the urban waste into resources.

A ST T 3R 1 3Fg HifT 3T 38 9 ST T gt & IR foafan 3x1=3

o,

(9.1)  TTHIOT SR UTTET i TEH T SR ITeHT A Ay |
(9.2) TH T USR o WHIUT S UGy b1 &1 H Ui & 9
(9.3) 9 UHR & it Uidwy Hi U fawimar fafa |

Study the diagram given below and answer the questions that follow :

o Uy A

Rural Settlement Pattern
(9.1) Identify and name the pattern of rural settlement.
(9.2) In which areas do we find such rural settlement patterns ?
(9.3) Give one characteristic feature of this type of settlement pattern.
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e : FAfeRad wo haet giestaa wenterat & fofe ue Tem 9 % WH W

(9.1) “OFE SEA I16T Hi AR DT |

(9.2) IR & Toh &1 § & e TTHIT st Uiq&y urt € 2

(9.3)  WehIvT ITHIOT SRt i U Hewarqul fowiar fafeay |

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q.No. 9.

(9.1) Define the term *human settlement’.

(9.2)  Inwhich areas of the world do we find linear rural settlement pattern ?

(9.3) Give one important characteristic of ‘Despersed Rural Settlements’.

10. “9RA § MYMHP TRI H T HE Th TR ST 87 § fasfad gu & 17 39 w5 & g
HINT | 3

“Many of the modern towns in India were developed during the period of British
domination.” Substantiate the statement.

11. e wHe &7 § fG=re o o0 STt Ugm o ° Sfexr et =T &l Hewd W HifeT | 3x1=3

Explain the importance of Indira Gandhi Canal for providing water for irrigation in the
Canal Command area.

12. 9 U T 3G 1 3T HIT 3R 39% A9 fGT M0 U9t & 3w feAfa

(12.1) 39 @ ¥ T T T GI B! TdM HIST 3R ITH A1 Ay |
(12.2) 37 @ &A1 & T fAfEw St g9 ¥4 % 61T Higet 377 FA1-Ueak 3T & & |

(12.3) 39 G4 % ToTT SToT YT & AT I Sooid RIS | 3x1=3
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Study the following diagram and answer the questions that follow :

To Kolkata
250 Km

Manganese

L4
* Steel Plant

@ Limestone

7 Iron Ore

Coal

memee Railway

(12.1) Identify and name the steel plant shown in this diagram.
(12.2) Name the mining fields which supply coal and limestone to this plant.

(12.3) Mention the source of water for this plant.

e ; =Tt T shae gieaTtaa whentedt & e ue 9 e 12 % ©H WE
(12.1) oREUE T § Feerd A1 Tehichd g0aTd Wi & A fafe |

(12.2) <iie-3Td ST § UG [l 31 sed AT & 1 fAfey |

(12.3) g SR ST SENT I SR ST o &9 H FT ST ST 8 2

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 12.

(12.1) Name the two integrated steel plants located in the state of Jharkhand.

(12.2) Name any two raw materials used in the iron and steel industry.

(12.3) Why is iron and steel industry known as basic industry ?

13.  “epld 3R T MUH § T Seordl ¥ SIS §U & b 3¢ Uh-ga ¥ SToTT =&l 15 ST FebelT
T 17 HUA B I BT | 3

“The nature and human beings are so intricately intertwined that they can’t be
separated.” Substantiate the statement.
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14, g7’ 1 T 7 € 2 R H [l TR qdeT AhuuT 1 faeei ot ity | 1+4=5

What is ‘tourism’ ? Analyse any four tourist attractions in the world.

15. T=Tar Hiaues fhl re fogeti @1 Sooia X gY, fHfd Y ok U FY § IR e

FHINT | 5x1=5
Differentiate between Mixed farming and Dairy farming; stating any five points of
distinction.

16. “TorST SR AT &7 U Hewequl A i A o el €, S qen Y aivedt e, e o
foTT =R vaer §RT 7 1 AT & 17 3T F b G T T ST Al I S e T
FHIT | 2%+ 2% =5
“The Suez and the Panama canals are two vital man-made navigation canals which serve

as gateways of commerce for both the eastern and western worlds.” In the light of this
statement explain the economic significance of these two canals.

17. 9Rd ¥ o6l IR fo@i & T & HROT S-S F €, T BT | Jaq & TR
IROTHT T SeeiE IS | 2+3=5

Explain why the causes of male and female migration are different in India. Find out the
environmental consequences of migration.

18. 9N H TSI 1 [0 GHET F47 781 & 2 IS0 Wied sAe T | 5x1=5

Why is the distribution of roads not uniform in India ? Explain with examples.

19. 3Myfe HT UrefTent qur faeE & TR 3 IR § H IR e § Hewoqul g 5
TR FTE € 2 T HINT | 2V +2Y5 =5

Explain how the ‘modern agricultural technology’ and ‘expansion of irrigation’ played a
crucial role in enhancing agricultural output in India.

20. ‘SHifHHET TH G R U™ € 9 SHIHHT GhHUT THg’ i dF T3 &l gu

HIT | 2+3=5
What is ‘demographic cycle’ ? Describe three stages of ‘demographic transition
theory’.

64/1/3 6



21. WEW % KU MU I YE@-AETeE | g Wi @eor A, B, C, D 3R E % §RT g9 T
T | T I I A SF T SHERT B WerEAd ¥ UEH SR Sk el A 3% ke @il
TE @ret W farau 5x1=5
(A) U@ A ol FHH S-S a1 97
(B) TIcTaTHl URTARUT AT &3
(C) wE FHt-uT
(D) ST aTE-ux
(E) wm faet

Five Geographical features shown on the given political outline map of the World as A,
B, C, D and E. Identify these features with the help of the information given below and
write their correct names on the lines marked near them :

(A) The country with lowest density of population in Asia.

(B) An area of nomadic herding.

(C) A major sea port.

(D) An Internatinal airport

(E) A mega city

e ; FEfeiEd ueT haet giteantaa wdtenterat & fou ue 9@ 21 F ©H W e
(21.1) TR U GEQ HH SHEEAT gt <97 H A1 AE@y |
(21.2) TR H ToTETE URTEROT & HEwaqor &3 1 A1 fefay |
(21.3) 3T R [HHl Th TE FHRI-UT 1 AW foAf@u |
(21.4) TSieT & fohdl U STRTSEIT aTg-a 1 19 fef@ |
(21.5) I & fopdt wek B et &1 AW fafEn |

Note : The following questions are for the Visually impaired candidates only in lieu of
Q.No.21:

(21.1) Name the country with smallest population in Asia.
(21.2) Name an important area of normadic herding in Africa.
(21.3) Name any major seaport in North America.

(21.4) Name any one international airport of Brazil.

(21.5) Name any one mega city of Europe.
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22. WRA % U T T Y@ AHtes 8§ eftad it suge e @ ke @ik s
T4 Aty 5x1 =5
(i) HaiTee SH-I9 a1t T5F (2011) |
(i) HY HF YHOT STHEET 91T T |
(iill) TS - TlE 3T G & |
(iv) e T5F § ot IMEH HREMT |
(V) WY UIel {oI-AUSH 1 Ty |
Locate and label the following on the given poltical outline map of India with
appropriate symbols.

(i)  The state having the highest density of population (2011).
(i)  The state with smallest rural population.

(ili) Mayurbhanj — an iron ore mining area.

(iv) An oil refinery in Karnataka state.

(v)  The headquarter of South Central Railway Zone.

Me : FeAfcfad ueT Heet gheantaa adentert & oo ue 9@ 22 & ©H W e
(22.1) &A% P I T TR HT TaH TSI T DI TT & 9

(22.2) TS FHH UTHIOT SHEEAT A6l AT FH AW [GRaU |

(22.3) TITHST TlE-37h &7 e Tog H Fere & 9

(22.4) TCTE It YL HRGMT 69 T | o € 2

(22.5) =Y UZA {A-HUSHA & A T AW fAr@u |

Note : The following questions are for the Visually impaired candidates only in lieu
of Q.No. 22 :

(22.1) Which is the largest state of India in respect of area ?
(22.2) Name the state having smallest rural population.

(22.3) In which state is Mayurbhanj iron ore mining area located ?
(22.4) In which state is Mangaluru oil refinery located ?

(22.5) Name the headquarter of South Central Railway Zone.

64/1/3 8
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Map for Q. No. 22
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